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Fr27E5A178 (H)
BFoR
[EPN[ELSA Ff 4 JIE £
BEER HIAK EEFS 3.730 EEFES 3 441
2 A EX BEXF 4664 | -0934 FILFRRE 45.4 -1.268
HiE FX HILFRAE 4.82 -0.157 BRE K 51.9 -6.491
4 T BE FHILFRAE 4.86. -0.042 4 LEFN 3 535 -1.674
5 Rl the K2 5.64 -0.778 5 RS 3556 -2.015
6 L8 Z5 BILFRAE 15.74 -0.099 6 EEE®AY [3 5759 -1.981
NO|] K % & [EF|] & F & |[BA —iEH [EPN —EH ' A ' A % BA |BHE| 2 F & X % & & A
JIE 52 Bz 5 | B PT |penalty] 4 |  #  [PT |penalty] best lap total JBfL | NESL best lap
#E #E |19 1 20697 [ 1 1 19.058 1 19.06 19 HE HE| EEXFE 1 19.058
1 rEX BiE fHR MC 1 MC Bk hR | _EEXF
EK9 EE B 15| 1 18.699 1 18.991 1187 15 EEE A | EEXRF 1 18.699
HiFE EE |44 ] 1 29702 MC 1297 44 21 WE | IZREXZE 1 29.702
2| T2mxe | 1 FE Z 37 | 1 30212 1 25074 12507 15.827 37 " hE & [ IT¥RKFE 1 25.074
DC2 & Ff 24 | 1 21.051 1 24.006 1_21.05 24 2F RE | IT¥RKFE 1 21.051
T5 Ee | 46 | mMC 1 25615 1 13062 46 FH OBE |EREEXSE 1 30615
3| EHREHKXE] 15 Hih B 47 | 1 31680 1 26124 1 1 8112 27173 | 47 15 Hih B [EmREHEXF] 1 31.124
AE111 = 39 | 1 26.784 1 25434 1 2543 39 = [mEFEEEAE 1 25.434
i wmE | 51 | MC 1 33575 1 33.58 51 Hith = HEAS 1 33575
4| IREXRE 17 | i1 % | 48| 1 30754 | 1 1 27.140 12714 41.001 43 17 |15 /% | HEXZE 1 27.14
EF8 x | 52 | mMc 1 40.286 1_40.29 52 B B FEEXPE 1 40.286
UE Ak |50 1 36.264 1 33.049 1 33.05 50 2H @BX |[mEEEEXRF 1 33.049
S |EmEBEXE|14] L b |40 [ 1 26920 1 26.249 1 26.25 26.184 40 14 | lLes fath REESEXFE 1 26.249
EK4 WA 42 | 1 26.886 1 27.022 1_26.89 42 WA HE [EREERF] 1 26.886
Ak A9 |30 ] 1 25282 1 21.788 1 21.79 30 B8R KN [EEEgXE 1 21.788
6 | REEHKRE|13 ]| M B 48 | 1 31.268 MC 1 81.27 25509 | 48 13 |/ B [EaEsXFE 1 31.268
DC2 E—8§ ] 49 | MC 1 22453 | 2 13245 49 8 E—MAEFEERAF] 1 32.453
2E F 1] 1 22098 1 21.793 1 2179 31 ZR F ERASF 1 21.793
1| EBHXE 9 | E&) ZAL33 ] 1 26506 | 1 1 22237 1 2224 5.855 33 9 BB BN _ZEBAZF 1 22.237
DC2 FlIl gt 2| 1 23324 1 21.825 1_21.83 32 T _SBE | GEBATR 1 21.825
e =8 | 8|1 18117 1 16.609 1 16.61 8 E OEH(ERIEXFE 1 16.609
8|lEmIX®| 8 | Ak b 26| 1 21274 MC 1 21.27 0.256 26 8§ |HED Ht |EE$I¥X$ 1 21.274
EK4 E R 4 | mMC 1 22373 12237 34 TR OBE|THEIERF] 1 22373
B AF | 20 | MC 1 19.312 11931 20 B KM [ BhEXEE 1 19.312
9| EEX% 5 | s kIR 3| 1 15838 | 1 1 17.332 1 17.33 55.604 13 5 |hB XIE| EEXE 1 17.332
DC2 Hep B 71 1 20666 1 18.960 1_18.96 17 Heh 5 [ ByEXZ 1 18.96
#iL #% | 45 [MC 130374 13037 45 FIL | SEXE | 1 30.374
10| HEexz 12 | BE 8|t | 4 1 33052 1 26.281 1 26.28 18.38 41 12 |#RE #t [ FEXP 1 26.281
EG6 BE Hk |2 1 21.725 MC 12173 29 BE X[ HiEXPE 1 21.725
EE B 124828 1 16.994 1 16.99 12 BB Rt | BAXTF 1 16.994
1| BRAXH 3 | MFE Bt 4] 1 18669 1 18.243 1 18.24 51.915 14 3 | /NE OBt | BREXF 1 18.243
DC2 # 10| 1 18.654 116678 11668 10 KE fith | BAXT 1 16.678
il B 8| 1 20.091 1 18.970 1 18.97 18 il BE [ FEXFE 1 18.97
12| =gk 7 B 5 23| 1 20.723 1 22725 1 2072 58.446 23 7 HgEm | EEXPE 1 20.723
EK9 H 6] 1 21.941] 1 1 18.753 1_18.75 16 ERE #E REXS 1 18.753
HWiE X | 3|1 17671 1 14.821 1 14.82 3 g EX[BLERXFE 1 14.821
13| HFiuemie]| 2 | £t5H £5 6 | 1 16483 1 15.740 1 15.74 45.424 6 2 | £H 25K |[BUFERXE] 1 15.74
DC2 SE[ 4 | 1 14863 1 15.509 1_14.86 4 WHE B O[ELFRRE] 1 14.863
#P =4 |21 |MC 1 19.323 11932 21 HF =4E |FEIZEXRFE] 1 19.323
4| FEIEXR]|16] £tB =X 124430 1 44.801 1 2443 35.009 36 16 | tB BR|[FEIEXHE] 1 2443
EG6 e 1A 3| R 1 51.256 1_51.26 53 aiE A |FEITEXFE] 1 51.256
EAEES 8| 1 23611 1 16586 | 1 1 2159 28 sl RRZE [BEEZ=BXF] 1 21.586
15| EERRKE] 6 | B =— 2| 1 24466 1 19.329 11933 57.585 22 6 | FH F— |BEEEBXF] 1 19.329
EG6 [5 th | 9 | 1 19.225 1 16.670 1_16.67 9 S Bt [BEES2AE] 1 16.67
HW LB L 27 ] 1 21536 1 28.485 12154 27 H L[ BREEXE 1 21536
16| FEFEEAXE | 10 #A H 5| 1 24251 R 1 24.25 11.048 35 10 #E E | BEREEHXZFE 1 24.251
DC2 I H— 8| 1 20261 |1 R 1 2526 38 i #— | BfERXE 1 25.261
i 5 | 1 21.154 1 15.641 1 1564 5 ERE: hRAFE 1 15.641
17] HRX%E 4 | thE K#t | 25 | MC 121172 1 2117 53.589 25 4 | fhE K# | dsmKF 1 21.172
EK9 - |11 ] 1 16.776 1 17.966 | 1 1_16.78 11 HE B-| hRXF 1 16.776
SR FRE | 1 ] 1 13730 1 17.865 | 1 1 13.73 1 EE R | AKX 1 13.73
18 BHEXZ 1 ZF R | 7 | 1 15762 1 16.399 1 1576 44,156 7 1 |8 E# | _BFXF 1 15.762
DC2 iR BEA 2 | 1 14664 1 15444 1 1466 2 A BAX| BEKFE 1 14.664
F—ToB
MC 123213 | 1 1 2821 [T TR B 28.213
19| ELUFRAE L B LK
EEdrNa
BEER A 2
EER TR ek
HEEAR =i HiE




FR275E EERFEDLHN—TRFERS

FEpk27E58118 (1)
ZFDH
B AR R PR o
1 BEH 3 RRXFE |1 22578 1| SWFBRAZ |2 46791
2 LT FEF FWEREXSE |1 22898 2 LN 2 50.191
3 Ta BE BIFRAT |1 23.893 3 RExAT |3 10831
NO] X # & |0 = F & |BA[—=H BX [=£8 B\ A] B N | @&
JIIE {35 [l=tod EXY EDS PT |penalty] 2|  # PT |penalty] best lap total
ERKE 4 |1 26713 1 25134 1 25134
91 DC2 B BT
FEIXXY < 10 |R 1 58.694 1_58.694
22 EGG E# E‘ng-f]-bl
BEfAXE = 6 |1 28773 R 1 28773
93 DC2 BA EK
HREEXRE 3 AA BkF ] 9 MC 1 34308 1 1 39308], g3
24 EK9 FE =2&£ 01 7 |1 34480 1 31523 1 31523 i
ETE N ! k5 BE | 3 |1 28588 1 23.893 1 23803, ,. o
25 DC2 W fngry] 2 |1 46462 1 22.898 1 22.898 i
RRKE 9 Al FE | 5 |1 27613 1 28.102 1 27613, o519
26 EK9 BEE = 1 |1 22578 1 24093 1 22578 '
BHEE R &
EEFEER M/H Stk
SIREAER =0 &5




